
LAM DESIGN • 914.773.7600 • 7513A • PC • 01.31.08

C

O
N C E P

T

4A

Pyramid (PYR)

M6X10

M6X30
M6X25

Lock Release
Button

OP-FULLCF

Prosthetic Design, Inc., 700 Harco Drive, Clayton, OH 45315 USA   www.prostheticdesign.com     
Telephone 800-459-0177    International Telephone 937-836-1464    Fax 937-832-5361

OP-FULLCF-LP

Warranty Information: PDI warrants its components to purchasers of the prosthetic components only. No warranties are made to consumers. All components are warranted for 30 
days from original purchase date. This warranty applies only to manufacturing defects and does not cover: (1) any damage due to misuse, altering of the component, improper service 
or accidents; (2) any secondary costs that might be incurred in the exchange of components; (3) wear; normal, or due to incorrect selection of components. During the warranty period, 
defective parts will be replaced or repaired at no charge. Missing bolts will be replaced at retail prices. This warranty is in lieu of all other warranties, expressed or implied, including 
any implied warranty of merchantability or fitness for particular purpose. The remedies provided above are exclusive; in no event shall Prosthetic Design, Inc. be liable for any special, 
indirect, incidental, or consequential damages.

Returns: A restocking fee totaling 2% of retail price will be charged to customer should the customer wish to return any PDI product for credit. The part must be unused, and in its 
original, unopened packaging. In addition, the return must be initiated within 30 days of its purchase in order to qualify for the credit. If returned after 30 days of purchase date a 15% 
restocking fee will be charged.

Offset Plate
Product Information

Added Height:  6.35mm (1/4")
Weight:   48g (1.69 oz)
Load Rating:
Moderate Activity  265 lbs. (120 Kg)
Low Activity   325 lbs. (147 Kg)
Suggested L-Code L5910 – BK / L5920 – AK

Added Height:  6.35mm (1/4")
Weight:   48g (1.69 oz)
Load Rating:
Moderate Activity  265 lbs. (120 Kg)
Low Activity   325 lbs. (147 Kg)
Suggested L-Code L5910 – BK / L5920 – AK

The OP-FULLCF-LP is constructed of 1/4” (6.35mm) 
carbon fiber, is rated to 265 lbs normal gait activity, 
weighs only 1.69 ounces (48g), has a hole for 
plunger pin protrusion, and can interface between 
most socket and lower extremity endoskeletal 
systems that utilize a standard European 4-hole 
pattern.  The OP-FULLCF-LP is shipped with (2) each 
M6X10, M6X25 and M6X30 bolts.

Description:

Instructions:

Specifications:

®

Determine desired orientation of OP-FULLCF-LP on 
distal end of socket (A/P or M/L). USE LOCTITE 
242 ON EACH BOLT. Connecting component bolt to 
OP-FULLCF-LP by threading M6X10 bolts through 
the connecting component into threaded holes on 
the OP-FULLCF-LP. Position lock or attachment 
plate inside of the socket. Position OP-FULLCF-LP 
on distal end of socket and thread the M6X30 bolts 
through the connector and OP-FULLCF-LP and into 
the lock threads. Thread M6X25 bolts through 
OP-FULLCF-LP and into remaining lock threads. 
Tighten and torque all bolts to 12Nm.


